Instructions for Linbar’, Multibar’
Unibar, and Magnumbar
Part #102-1/09, 1302/09, 1403 & 1702

Fits Dresser, Road King 1997 to present Phone (714) 558-0085 Fax (714) 26.0087

1. Remove OEM engine guard.

2. Install top mount so the top bracket fits inside the frame (the
nut is adjustable in the bracket). After you mount the top bolt
through the frame into the adjustable nut, be sure you can
move the bar up and down for easier installation of the two
lower mounting bolts.

3. Install the 5/16” allen bolt through the frame and then into the
highway bar.

4. Install the 2 lower mounts using the bolts you took out in step
one or use the two 3/8” x 16 x 1 1/4” bolts supplied in the
hardware Kit.

5.  Tighten all bolts to factory specifications.

6. Hardware included:

-1 Allen bolt 5/16 x 18 x 1
-2 Hex bolts 3/8 x 16x 1 1/4

-2 Nylon lock nut 3/8 x 16
-1 Sae flat washer 5/16
-4 Sae flat washers 3/8

Front Linbar patent D361311
Front Multibar patent D548142



